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Mixed ladder problems (1min per column) #6

50% of 196 = 21) 50% of 10 =
50% of 38 = 22) 50% of 170 =
50% of 96 = 23) 50% of 82 =
50% of 198 = 24) 50% of 6 =
25% of 88 = 25) 25% of 12 =
25% of 76 = 26) 25% of 84 =
25% of 4 = 27) 25% of 32 =
25% of 56 = 28) 25% of 16 =
20% of 65 = 20} 20% of 15 =
20% of 85 = 30) 20% of 35 =
20% of 40 = 31) 20% of 90 =
20% of 25 = 32) 20% of 100 =
34 4663 = 33) 571+ 1852 =
383+ 772 = 34) 296 + 259 =
55 + 379 = 35) 608 4 1528 =
98 + 903 = 36) 1650 4+ 91 =
77485 = 37) 5.7+5.7 =
10+ 4.8 = 38) 0.9+ 6.6 =
5446 = 39) 3.8+9=
5241 = 10) 2.4+ 9.5 =
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Mixed ladder problems (Imin per column) #6 (Solutions)

50% of 196 = 98 21) 50% of 10 =5
50% of 38 = 19 22) 50% of 170 = 85
50% of 96 = 48 23) 50% of 82 =41
50% of 198 = 99 24) 50% of 6 =3
25% of 88 = 22 25) 25% of 12 =3
25% of 76 = 19 26) 25% of 84 = 21
25% of 4 =1 27) 25% of 32 =8
25% of 56 = 14 28) 25% of 16 =4
20% of 65 =13 29) 20% of 15 =3
20% of 85 =17 30) 20% of 35 =17
20% of 40 = 8 31) 20% of 90 = 18
20% of 25 =5 32) 20% of 100 = 20
34 4663 = 697 33) 571+ 1852 = 2423
383+ 772 =1155 34) 296 + 259 = 555
b5 4+ 379 = 434 35) 608 + 1528 = 2136
98 4+ 903 = 1001 36) 1650 +91 = 1741
77485 =16.2 37) 5.7+57=11.4
10+4.8=14.8 38) 0.9+6.6=17.5
b4+6=114 39) 3.84+9=12.8

)

5.2+1=6.2 40) 2.4+4+9.5=11.9



